Name: __________________________________




1. Mix with the other members of your group to complete the boxes below.
2. Each box must be completed by asking a different person.
3. You can only answer up to ten times.
4. When you card is full, shout “Mendeleev” and bring it to me.
	Write the equilibrium expression for 

2CO(g)<==>C(s)+CO2(g)

Name of person:

Answer:


	What is chemical equilibrium?
Name of person:

Answer:


	What is Kw?

Name of person:

Answer:



	If the forward reaction is favored, would K be large, small, or 1? Why?
Name of person:

Answer:


	How do you know if a precipitate will form using Ksp?

Name of person:

Answer:


	Calculate the solubility of ZnS given that its Ksp value is 1.6x10-24.

 Name of person:

Answer



	List three specific equilibrium constants (including name and symbol).

Name of person:

Answer:


	How is equilibrium dynamic?

Name of person:

Answer:


	Explain what happens to concentration at equilibrium.

Name of person:

Answer:




